1. Cheryl asked the players on two mens’ and womsoftball teams what color their new
uniforms should be: red, blue, or green. She reambtde results in two matrices. Find the
total for the two teams.

Team 1 Team 2
B G R B G

R
Men (1 3 2 Men [1 0 2
Women6 5 0 Women3 4 6

2. Katie asked the players on two mens’ and womiaatball teams what color their new
uniforms should be: red, blue, or green. She reambtde results in two matrices. Find the
total for the two teams.

Team 1 Team 2
R B G R B G

Men (8 1 2 Men (3 2 O
Women4 6 7 Women8 4 2

3. Nicole asked the players on two mens’ and womsmcser teams what color their new
uniforms should be: red, blue, or green. She reambtde results in two matrices. Find the
total for the two teams.

Team 1 Team 2
B G R B G

R
Men [0 5 3 Men [6 9 1
Women8 1 2 Women7 5 8

4. Don asked the players on two mens’ and womemthédl teams what color their new
uniforms should be: red, blue, or green. He reabtte results in two matrices. Find the
total for the two teams.

Team 1 Team 2
B G R B G

R
Men [0 7 3 Men |5 4 8
Women6 5 8 Women7 1 7



5. Mark asked the players on two mens’ and womeaseball teams what color their new
uniforms should be: red, blue, or green. He reabtte results in two matrices. Find the
total for the two teams.

Team 1 Team 2
B G R B G

R
Men (4 2 1 Men (2 9 6
Women0O 7 3 Women3 0 4

6. Daryl asked the players on two mens’ and womkeatkey teams what color their new
uniforms should be: red, blue, or green. He reabtte results in two matrices. Find the
total for the two teams.

Team 1 Team 2
R B G R B G

Men (1 4 8 Men (2 0 4
Women3 6 5 Women5 8 O

7. Ryan asked the players on two mens’ and womenisis teams what color their new
uniforms should be: red, blue, or green. He reabtte results in two matrices. Find the
total for the two teams.

Team 1 Team 2
B G R B G

R
Men [2 O 7 Men [3 8 2
Womenl 4 8 Women5 4 5

8. Mary asked the players on two mens’ and womeki'seams what color their new uniforms
should be: red, blue, or green. She recorded gwdtsan two matrices. Find the total for the
two teams.

Team 1 Team 2
B G R B G

R
Men [3 6 5 Men |0 1 6
Women2 0 7 Women9 7 6



9. Cheryl asked the players on two mens’ and womsoftball teams what color their new
uniforms should be: red, blue, or green. She rembtde results in two matrices. Find the
total for the two teams.

Team 1 Team 2
B G R B G

R
Men [6 0O 5 Men |5 8 1
Womenl 3 7 Women2 3 3

10. Katie asked the players on two mens’ and wonmsscser teams what color their new
uniforms should be: red, blue, or green. She reambtde results in two matrices. Find the
total for the two teams.

Team 1 Team 2
R B G R B G

Men (8 4 2 Men (4 6 O
Women6 O 5| Women7 9 9
Perform the indicated operations on the given oedti

7 6 -9 |[-7 -6 1
11. |3 -7 -5|+| 9 -5 2
0O -8 4 -9 7 0

0 0 -8 0 0 -8
Al |12 -12 4 B] | 12 -12 -3
-9 -1 -3 -9 -1 4
(14 12 -1 (14 12 -1
C] |-6 -2 -7 D] |-6 -2 4
| 9 -15 4 | 9 -15 -7



Perform the indicated operations on the given oedti

12.

13.

14.

-3 5 2] [-8 -4 8
-4 8 -6/-| 6 -3 4
9 -2 -1/ |-2 3 5
—11 1 10
[A] 2 5 -2
71 4
—11 1 10|
[C] 2 5 4
7 1 -2
1 -3 3] [-1 -3 -8
-1 -7 4|+l 7 3 =2
7 9 -9 4 1 -4
[0 -6 -5
[A] | 6 -4 2
11 10 -1
[ 2 0 11
[C] |-8 -10 -5
3 8 6
2 -6 5 0O 2 6
6 0 -2|-|-6 -1 -9
-4 -8 1 5 -5 8
2 -4 11
[A] |lO -1 9
1 -13 -11
[ 2 -8 -1]
[Cl] |12 1 -7
-9 -3 7]

[B]

[D]

[B]

[D]

[B]

[D]

[0 -6

5 9 -6
-10 11 -6
11 -5 -10
5 9 -6
-10 11 -10
11 -5 -6

-5

6 -4 -13

11 10 2

2 0 11
-10 6
3 8 -5




Perform the indicated operations on the given oedti

-5 -6 -1 |-7 9 1
15. 8 -5 -7|-| 9 5 -3
-3 0 9 2 3 -6

[2 -15 -2 12 3 O
[A] |-1 -10 15 B] | 17 0 —10
-5 -3 -4 | -13 3
12 3 O [2 -15 -2
[C]| 17 0 3 D] |-1 -10 -4
| -1 3 -10 -5 -3 15

17 8 [-2 4 8
16. |-8 6 -2|+| 0 -8 6
—4 4 3| |-1 -9 -4

-1 11 16 3 3 0

[A] |[-8 -2 -1 [B] |-8 14 -8
-5 -5 4 -3 13 7

3 3 0 -1 11 16

[C] |-8 14 7 [D] |-8 -2 4
-3 13 -8 -5 -5 -1

-9 7 O 7 7 3
17. 5 -6 -5-|-7 2 -3
2 -2 2| |-5 -7 -1

-2 14 3 —2 14
Al |[-2 -4 -8 B] -2 -4 1
-3 -9 1 -3 -9 -8
16 0 -3 16 0 -3
[C]| 12 -8 -2 D] | 12 -8 3
7 5 3 | 7 5 -2



Perform the indicated operations on the given oedti

—4 -8
18. | 8 1
-3 5

[A] | 14
-7

[-13

c1| 2
1

6 9
19. |-9 -9

3 4 -2

8
[A] |0
2

4
[C] |-18
4

-5 2 8
20. |-3 9 1j+|-4 -9
-1 5 7

~13
Al | -7
2

-7 9
-1j+| 6
4| |-4

[ 5 -16 -12

9 8
-1 -1
0 -2
-7 -1
11 O

—6] [-2
~7|-|-9

4 -15

-16 -8

3 -11

14 3
-2 -3
5 4

4 1
0 1
8 12

1

-8

8
-6

-7
0
5

[B]

-5

0
4

-13 4
-7 0 12
-2 8

[B]

[D]

[B]

[D]

[C]

[ 5 -16 -12
14 9 -1
-7 -1 8
[-13 0 -2
2 -7 0
1 11 -1
4 14 3
-18 -2 4
4 5 -3
8 4 -15
0 -16 -1
2 3 -8
3 0 15
1 18 2
0 2 1

[D]

3 0 15

1 18
0 2

1
2



Perform the indicated operations on the given oedti

21.

22.

23.

24,

25.

26.

H

A -3 1 5 9 -5
W20 el
[1 —1} [—2 —3}

+
-3 1 4 -
A 3 2 5 -1 -4
w2 e[t

e
Ol
s S ]
ORI
PR
A s )
b

13 2
Al [—11 —5}

15 4

[C] [

[C] [

[C] [

[C] [

[C] [

3
[C] [

9 -5
11 2
1 -4
1 —
6 9
—4 1
10 -4

14 5}

4 10}

-8
-11 -5

-3 1
IP] [11 2}

2 11
(D] [—4 —10}



Perform the indicated operations on the given oedti

{6 7} {—2 6}

27. +

—2 -2| |-2 3
a8 o [4 13 o [4 13 o [8 1
O I O e I < S N o e
{—5 —6} {6 7}

28. +
6 -6 |6 2
NEERE o [F11 -13 o [F1L 13 o1 1
Al [o —8} (Bl {o —8} (] [—12 —4} (D] [—12 —4}
[2 5} {—7 2}

29. +
-3 -8| |-6 -3
a8 7 g [03 a9 3 o5 7
w3 mly Y el S e

S i

10 -5 10 -5 -2 1 —2 1
[A][—z 1J [B]{—s 3} [C]{—s 4 [D][—z 1J



